SAMPLE PROBLEM : % REACTION

Find the % reaction and write the expression if 6.90 g of Hy()
and 32.0 g of O, react to form 25.75 g of ice at - 70 C°.

2H2(_9) + 2_9) ’ll'j: ZHD-OC.S)

- ; 320 —
i e ’

79 ™n =ﬁ X (OO‘Z
~Fher.

Ficd rax product

WH-E 2 ol HO ,8 023 H0 ‘ ‘JQO
bqoj—HZKQ‘ozﬁk S ol EiE - b1. 53

IroziaL.Q-

—— =
| \pote, 2metHeO 18029860 T yo

32039”3200392’( TN |WH&0@

o ( k is L.RB.

Toren=€XL v oD}
Theor

o txn 12_5_—-?-9_ x 1007
3o 0% 9




Percent Reacion Worksheet



	Page 1: Nov 22-9:47 PM
	Page 2: Nov 24-2:48 PM

